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Unit Digit

1. Find the unit digit in (6736)32567

(6736)32567 esa bdkbZ dk vad Kkr dhft,
(a) 3 (b) 6

(c) 4 (d) 2

2. Find the unit digit of (23)21× (24)22 × (26)23 ×
(27)24 × (25)25

(23)21× (24)22 × (26)23 × (27)24 × (25)25 dk bdkbZ
vad Kkr dhft,
(a) 5 (b) 2

(c) 0 (d) 3

3. Find the unit digit of (235)215 + (314)326 +
(6736)213 + (3167)112.

(235)215 + (314)326 + (6736)213 + (3167)112 dk bdkbZ
vad Kkr dhft,
(a) 6 (b) 5

(c) 0 (d) 8

4. Find the unit digit of
55 48

11 18

12 8

3 16


55 48

11 18

12 8

3 16
  dk bdkbZ vad Kkr dhft,

(a) 0 (b) 2

(c) 8 (d) 6

5. Find the unit digit of 745 – 358

745 – 358 dk bdkbZ vad Kkr dhft,
(a) 4 (b) 7

(c) 3 (d) 0

6. Find the unit digit of (17)1999 + (11)1999 –71999

(17)1999 + (11)1999 –71999 dk bdkbZ vad Kkr dhft,A
(a) 7 (b) 1

(c) 9 (d) 5

7. Find the unit digit of /dk bdkbZ vad Kkr dhft,A
1! + 2! + 3! + 4! + 5! + .......... + 3333!

(a) 1 (b) 9

(c) 3 (d) 4

8. Find the unit digit of 111!

111! dk bdkbZ vad Kkr dhft;sA
(a) 8 (b) 5

(c) 1 (d) 0

Unit Digit/ bdkbZ vad
(Practice Sheet With Solutions)

9. Find the unit digit of (888)9235! + (222)9235! +

(666)2359! + (9999)9999!

(888)9235! + (222)9235! + (666)2359! + (9999)9999! dk
bdkbZ vad Kkr dhft,A

(a) 6 (b) 0

(c) 9 (d) 4

10. Find the unit digit in the square root of 15876

15876 ds oxZewy esa bdkbZ dk vad Kkr dhft,

(a) 8 (b) 6

(c) 4 (d) 2

11. The digit in the unit place of 15 + 25 + ... + 995

15 + 25 + ... + 995 ds bdkbZ LFkku esa vad

(a) 1 (b) 3

(c) 0 (d) 2

12. If x = (164)169 + (333)337 – (727)726, then what is

the unit digit of x?

;fn x = (164)169 + (333)337 – (727)726 rks x dk bdkbZ
vad Kkr djsaA

(a) 5 (b) 9

(c) 8 (d) 7

13. The unit digit of [(2543 × 5642) + 45625 + 2342 +

7623] is-

[(2543 × 5642) + 45625 + 2342 + 7623] dk bdkbZ vad
gS&

(a) 1 (b) 2

(c) 3 (d) 4

14. What is the unit digit of the sum of first 150

whole numbers?

çFke 150 iw.kZ la[;kvksa ds ;ksx dk bdkbZ vad D;k gS\

(a) 9 (b) 5

(c) 0 (d) 1

15. What is the unit digit of (1570)2 + (1571)2 +

(1572)2 + (1573)2?

(1570)2 + (1571)2 + (1572)2 + (1573)2 dk bdkbZ
vad D;k gS\

(a) 4 (b) 2

(c) 1 (d) 3
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Unit Digit

16. The unit digit in the square root of 66049 is

66049 ds oxZewy esa bdkbZ vad gS

(a) 3 (b) 7

(c) 8 (d) 2

17. If in a two digit number, the digit at units place
is z and the digit at tens place is 8, then the
number is

;fn ,d nks vadksa dh la[;k esa] bdkbZ ds LFkku ij vad zz
gS vkSj ngkbZ ds LFkku ij vad 8 gS] rks la[;k gS
(a) 80z + z (b) 80 + z

(c) 8z + 8 (d) 80 z + 1

18. If the unit digit of (433 × 456 × 43N) is (N+2),
then value of N is?

;fn (433 × 456 × 43N) dk bdkbZ vad (N+2) gS] rks
N dk eku D;k gS\
(a) 1 (b) 8

(c) 3 (d) 6

19. The unit digit of (795 – 358)

(795 – 358) esa bdkbZ ds vad crkb;s\
(a) 3 (b) 4

(c) 5 (d) 6

20. What is the units digit of 1! + 2! + 3! + .....+99!
+ 100! is?

1! 2! 3! ----- 99! $ 100! dk bdkbZ vad D;k gksrk gS\
(a) 3 (b) 1

(c) 5 (d) 6

21. Find the unit digit of  
10987654

is?

10987654
dk bdkbZ vad Kkr dhft;s\

(a) 4 (b) 6

(c) 0 (d) 2

22. What is the unit of 973234! × 234973!?

973234! × 234973! dk bdkbZ vad D;k gS\
(a) 2 (b) 6

(c) 7 (d) 9

23. Find the unit digit of  
3837

32 /dk bdkbZ vad D;k

gS\
(a) 2 (b) 3

(c) 9 (d) 5

24. The unit digit in the expression :

(36234) (33512) (39180) – (5429) (25123) (31512) will

be/O;atd esa bdkbZ vad D;k gksxk\
(a) 8 (b) 0

(c) 6 (d) 5

25. Find the unit digit of the expression/O;atd esa
bdkbZ vad D;k gksxk\
312 + 322 + 332 + 342 + 352 + 362 + 372 + 382 +

392

(a) 1 (b) 4

(c) 5 (d) 9

26. Find the unit digit of 2942! + 4421!/bdkbZ vad D;k
gksxk\
(a) 6 (b) 7

(c) 9 (d) 3

27. Find the unit digit of 55552345 + 66665678/bdkbZ
vad D;k gksxk\
(a) 1 (b) 3

(c) 5 (d) 7

28. If x is a positive integer, what is the unit digit

of (24)2x+1 × (33)x+1 × (17)x+2× (9)2x ?

;fn x ,d èkukRed iw.kkaZd gS] rks (24)2x+1 × (33)x+1 ×

(17)x+2× (9)2x  dk bdkbZ vad D;k gS\
(a) 4 (b) 6

(c) 7 (d) 8

29. What is the ten's digit in the expression/O;atd
esa ngkbZ dk vad D;k gS\
943268 × 147347 × 9164 × 3285 × 1139

(a) 5 (b) 0

(c) 6 (d) 8

30. What is the ten's digit in 7400?

7400 esa ngkbZ dk vad D;k gS\
(a) 1 (b) 0

(c) 2 (d) 9

31. If a and b are positive integers and x = 4a and

y = 96, which of the following is a possible unit

digit of xy?

;fn a vkSj b èkukRed iw.kk±d gSa vkSj x = 4a vkSj y =

96] rks fuEufyf[kr esa ls dkSu lk xy dk laHkkfor bdkbZ
vad gS\
(a) 1 (b) 4

(c) 8 (d) 7

32. Find unit digit of 1!100! + 2!99! + 3!98! + ...+100!1!/

dk bdkbZ dk vad D;k gS\
(a) 6 (b) 4

(c) 9 (d) 7

33. Find the unit digit in the expression:

(1!)100! + (2!)99! + (3!)98! +………………… 100!1!

O;atd esa bdkbZ vad Kkr dhft,%

(1!)100! + (2!)99! + (3!)98! +………………… 100!1!

(a) 3 (b) 9

(c) 6 (d) 5
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Unit Digit

34. What is the unit digit of/bdkbZ vad Kkr dhft,%

1.(1!)1! + 2.(2!)2!+ 3.(3!)3!+.......+ 101.(101!)101!

(c) 6 (d) 2

(c) 0 (d) 1

35. Find the unit digit of 4198 + 612345 + 34866 +
2411 + 1.

4198 + 612345 + 34866 + 2411 + 1 dk bdkbZ vad Kkr
dhft,A

(a) 3 (b) 2

(c) 1 (d) 0

36. What is the right most integer of the
expression 65776759 + 54697467 + 65776759 + 54697467 

O;atd dk lcls nkfguk iw.kkZad D;k gSA 

65776759 + 54697467 + 65776759 + 54697467

(a) 4 (b) 6

(c) 9 (d) 0

37. The unit digit in the sum of (124)372 + (124)373

is.

(124)372 + (124)373 ds ;ksx esa bdkbZ vad gSA

(a) 5 (b) 4

(c) 20 (d) 0

38. What is the unit digit 217413×819547×414624 ×
342812.

bdkbZ dk vad 217413×819547×414624 × 342812 D;k gSA

(a) 2 (b) 4

(c) 6 (d) 8

39. The unit digit in the sum of (124)372 + (124)373

is.

bdkbZ dk vad (124)372 + (124)373 D;k gSA

(a) 5 (b) 4

(c) 2 (d) 0

40. What is the unit digit in the product (3547)153

× (251)72?

bdkbZ dk vad (3547)153 × (251)72 D;k gSA

(a) 5 (b) 6

(c) 7 (d) 1

1.(b) 2.(c) 3.(d) 4.(a) 5.(a) 6.(b) 7.(c) 8.(d) 9.(c) 10.(b)

11.(c) 12.(d) 13.(a) 14.(b) 15.(a) 16.(b) 17.(b) 18.(d) 19.(a) 20.(a)

21.(b) 22.(b) 23.(a) 24.(c) 25.(c) 26.(b) 27.(a) 28.(d) 29.(c) 30.(b)

31.(b) 32.(d) 33.(b) 34.(d) 35.(c) 36.(a) 37.(d) 38.(c) 39.(d) 40.(c)

Answer Key
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Unit Digit

1 (b)

 unit digit of (0,5,6,1)n is same

 unit digit of (6736)32567 is 6.

2. (c)

(23)21 × (24)22 × (26)23 × (27)24 × (25)25

= 31 × 42 × 6 × 74 × 5

= 3 × 6 × 6 × 1 × 5

= 0

3. (d)

(235)215 + (314)326 + (6736)213 + (3167)112

= 5 + 42 + 6 + 74

= 5 + 6 + 6 + 1 = 8

4. (a)

55 48

11 18

12 8

3 16


= 
55 55 144

11 72

3 .4 2

3 2


= 344.455 + 272

= 34.43 + 24

= 1 × 4 + 6

= 0

5. (a)

795 – 358

= 73 – 32

= 3 – 9 = 4

6. (b)

171999 + 111999 – 71999

= 73 + 1 – 73

= 3 + 1 – 3 = 1

7. (c)

1! + 2! + 3! + 4! + 5! + ........... + 3333!

5! onwards unit digit will zeoro.

unit digit = 1 + 2 + 6 + 4 + 0 + 0 ......

= 3

8. (d)

111!

Since, any factorial number greater than or

equal to 5! has zero at unit's place.

 'O' is the required answer.

9. (c)

(888)9235! + (222)9235! + (666)2359! + (9999)9999!

= 84 + 24 + 64 + 94 [factorials are multiple of 4]

= 6 + 6 + 6 + 1

= 9

10. (b)

Square root of 15876 is 126

 unit digit 6

'OR'

We know,

42 = 16

62 = 36

15876
4

6

158 > 122

 124 or 126

We know, 1252 = 15625 < 15876

 15876  = 126

 unit digit is 6.

11. (c)

15 + 25 + ... + 995

= (1 + 2 + 3 + ... + 9) + (1 + 2 + 3 + ... + 9)+ ..
10 times

 9 × 
9 1

2


× 10 = 450

 unit digit = 0

12. (d)

x = (164)169 + (333)337 – (727)726

 4169 + 3337 –7726

 41 + 31 –72

 4 + 3 – 9 = 7 – 9  17 – 9 = 8

13. (a)

(2543 × 5642) + (456)25 + 2342 + 7623

= (5 × 6) + 6 + 9 + 6

= 30 + 6 + 9 + 6 = 51

14. (b)

Sum = 
 n n 1

2



whole numers = 0, 1, 2, 3, ..., 149

 Sum = 149 × 
150

2
= 11175

SOLUTIONS
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15. (a)

(1570)2 + (1571)2 + (1572)2 + (1573)2

= 0 + 1 + 4 + 9

= 14  unit digit = 4

16. (b)

660  49
3

7

660 > 252

 66049  is either 253 or 257

Consider

2552 = 65025 < 66049

 number is 257

unit digit = 7

17. (b)

Unit place = z

then number  10x + z and ten's digit is 8

 x = 8

 it is of the form 80 + z

18. (d)

Consider, (433 × 456 × 43N)

in 433 × 456  unit digit is '8'

So, unit digit of (8 × 43N) is 'N'

According to Question

Unit digit of 8N is N + 2

 N = 6 satisfies.

19. (a)

Unit Digit = 795 – 358

73 – 32

3 – 9 = –6

Unit Digit = 4

20. (a)

All numbers starting with 5! will end in zero.

 unit digit of 1! + 2! + 3! + ... + 100! is same

as unit digit of 1!+2!+3!+4! = 1 + 2 + 6 + 24 =

33.

 unit digit = 3

21. (b)

Unit digit of 
10987654

Consider, the power of 4  since it is

completely divisible by 2

 4even  unit digit = 6

 Here unit digit = 6.

22. (b)

973234! × 234973!

unit digit = 34 × 44
234!

4
= Remainder 0

1 × 6 = 6
973!

4
= Remainder 0

23. (a)

We know, (even)even/odd = even.

 
3837

32   even

 even unit digit

from options only option (a) is even.

24. (c)

(36)234 (33512) (39180) – (54)29 (25123) (31512)

 6 × 30 × 1 – 4 × 5 × 1

 6 – 0 = 6

25. (c)

312 + 322 + 332 + 342 + 352 + 362 + 372 + 382 +

392

= 1 + 4 + 9 + 6 + 5 + 6 + 9 + 4 + 1

= 45

 unit digit = 5

26. (b)

2942! + 4421!

 94 + 44 = 1 + 6 = 7

27. (a)

55552345 + 66665678

5 + 6 = 11 unit digit = 1

28. (d)

(24)2x+1 × (33)x+1 × (17)x+2 × (9)2x

= 41 × 3x+1 × 7x+2 × 1 = 4 × (3×7)x+1.7×1 = 4×(21)x+1

× 7 = 4 × 1 × 7 = 28

29. (c)

for ten's digit divide given expression by 100,

the remainder will be ten's digit

 
943268 147347 9164 3285 1139

100

   

= 
943268 147347 2291 657 1139

5

   

= 
3 2 1 2 4 3 20 60

5 5 20 100

   
  

 60 is remainder  ten's digit = 6
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Unit Digit

30. (b)

Divide 7400 by 100

 
   

100 1004400 7 24017 01

100 100 100 100
  

tens digit = '0'.

31. (b)

x = 4a , y = 9b

unit digit of x = 4 or 6

unit digit of y = 9 or 1

 possibilities are:-

4 × 1 = 4

4 × 9 = 6

6 × 9 = 4

6 × 1 = 6

The unit digits of xy will be 4 or 6

 by options, (B) is correct.

32. (d)

Unit digit of n!n! for n!  5! is zero.

Now consider:

1!     2!     3!      4!

1! + 2! + 3! + 4! + ...

= 11 + 22 + 66 + 2424 + 0 ...

= 1 + 4 + 6 + 6 = 7 unit digit

33. (b)

(1!)100! + (2!)99! + (3!)98! + ........... (99!)1!

1100! + 299! + 698! + 2497! + (120)96! + .......



 unit digit = 0

unit digit = 1 + 24 + 64 + 44 + 0

  = 1 + 6 + 6 + 6

  = 9

34. (d)

1.(1!)1! + 2.(2!)1! + 3.(3!)1! + ........... +
101.(101!)101!

5! onwards unit digit will zeoro.

unit digit 1×1 + 2×(2)2 + 3×(6)6 + 4 ×(24)4

1 + 8 + 8 + 4

= 1

35. (c)

Consider,

4198 + 612345 + 34866 + 2411 + 1

We know,

198 12345
  = 0, = 1

2 2


    
66 11

= 2, = 1
4 2

  Unit digits:

= 6 + 6 + 4 + 4 + 1

= 1

36. (a)

65776759 + 54697467 + 65776759 + 54697467

6759
= 3

4
Remainder

7467
= 3

4

Unit digit = 7³ + 9³ + 7³ + 9³

= 3 + 9 + 3 + 9

= 4

37. (d)

124372 + 124373

 124372 [1 + 124]

 127372 [125]

Even no. × multiple of 5 = unit digit '0'

 '0' is the unit digit.

38. (c)

217413 × 819547 × 414624 × 342812

413 547 624 812
= 1,  = 1,  = 0,  = 0

4 2 2 4

Unit's digits are:-

 9 × 9 × 6 × 6

 6

39. (d)

(124)372 + (124)373

Unit digit = (4)4 + (4)1

= 6 + 4 = 0

40. (c)

(3547)153 + (251)72

Unit digit = 71 × 14

= 7 × 1 = 7
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